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AMH: fedie:_ R
9x — 2x — 3x° — 4(6x + xz) o> — 3% — 5x° — 3(6x —x)
22 — 6x + 4% + 2(8x — 6x2) 4% — 8x + 5¢° — 3(5x2 —X)
Ox — 4x + 2(3)62 — Ox) — 3x° X430 =9+ T - T
3x% — Tx — 5% — 3(4x2 + 9x) 3(9x2 + 8x) — 2% + 5x + 8x?
2% + dx — 3(9%° — 3x%) + 2x° 8% — 4x — 3(9x* + 5%) — Tx
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Ox — 2x — 3x° — 4(6x + x°)
-3 — 4 — 17x

2% — 6x + 4x% + 2(8x — 6x%)
2% — 82 + 10x

Ox — 4x + 2(3%* — 9x) — 3x°
—3x° + 6 — 13x

3% = Tx® = 5% — 3(4x° + )
—5x%° — 1622 — 27x

2% + 4 — 3(9%° — 3x%) + 2x°
23 — 16x% + 4x

W: w:

o — 3x% — 5x% — 3(6x — x)
9% — 8¢ — 15x

4x% — 8x + 5% — 3(5x% — x)
5¢° — 112 — 5x

X430 =9+ 7 — T
45> + 8¢ — 9x

3(9%° + 8x) — 2x% + 5x + 8x?
33x% + 29x

8x° — 4x — 3(9x% + 5x)—Tx
8x° — 27> — 26x
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